addazyT
Quant Mega Quiz for SSC Tier-1 (Solutions)

S1. Ans.(d)

Sol.

12— 16%

1— E%

3 =X 3= 4%
15625

15625 15625
= =25,PR* =

PR = = 625, PR? = — =
25x25 25x25x25

3x625=1875
3x25=75
1x1=1
=1951Rs

$2. Ans.(b)
Sol.

B=x days, A= (x+7) days, C=(x-9) days
ATQ,
1, 1

1
x x+7 x—9

(x+7+x)(x-9)=x+7x

=x*-18x-63 =0

X=21=B

A=28

C=12 days

$3. Ans.(d)
Sol.
4x®-3y° 12 4x®-3y' 12
2x245yF 19’ 4x2+10y7 38
UsingC& D
We get
8x*+7y° _ 50

12 Months Subscription

13y* T Useful for CGL, CHSL & others
gx? 36

1yt 2er Y =32 TEST PACK
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S4. Ans.(c)
Sol.

S5. Ans.(a)
Sol.

thth =

+9
7=(1 1)e—
7 T
2— 9 ltr.

1— 4.5 lir

14— 14 X 2 = 63 It

Initial quality of milk = j—f ®7

=2 x7
4
=2 = 36751t
$6. Ans.(b)
Sol.
Zink Copper Zinc Copoer
[3 113 = 9 3 =12kg
[4 5] 1.5 = 6 75 =135kg
15 10.5
Pure copper = 4.5
Resultan alloy = 15+15=30kg
S$7.Ans.(c)
Sol.

33334 _ ngggaa _ (33333)3(15' ﬁbc _ ({Ib]c
5232 2 3 583
= [(3 ) +1 ] will have a factor=3%  +1

Greatest common divisor = '3:-3”E= +1
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$8. Ans.(d)
Sol.

o+ {4+ G- G} +1]

3+[4:—(%+ 1]]: 8—:4:;‘6

_ Bx23 23
4%16 8

S9. Ans.(c)
Sol.
PE = 32
PA=18
Let the radius =r
32x18 = (26+r1) (26-1)
32x18 = 26°-r*
rf =26°-32x18
= 676-576
r=10cm

$10. Ans.(b)
Sol.

5
cosecl = 3

4 3
4)(5—5 )(E‘l'l _

5 3
E+4KE—1
16 16
?5—31' 1 _ ?—2 _ E
11
E+2 3 11
$11. Ans.(b)
Sol.
A
X ; \ X
Dy
: 12 Months Subscription
Z. Y
AD=AF

o MAHA PACK

x+y=11 (1) Live Class, Video Course,
z+y=9 (9) Test Series, eBooks
x+z=13 (3) =

from (2) & (3) x-y = 4 = AD-CE= 4 B|I|ngual (with eBooks)
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$12. Ans.(d)
Sol.

oA

a) Sin 60° =
AD

= 3AD? =40A°

C) cos 60°% = 2o

AD
_ (D&)Z
AD

1
4
b) is a property

$13. Ans.(c)

Sol.

pr+pr+pr- = 600
Pr+pr+pr+3pri+pr® = 938
2pr+pr® = 600 (1)
3pr+3pre+pr =938 (2)
Pr+2pri+pr® = 338
2pr+pr® = 600

.. 142r4r® _ 169
Dividing both = =—
247 300

300+600r+300r® = 338+169r

300r*+431r-38=0
50 100 25

r= = 0 =
2300 12 3

1
=80
Baxb

S$14. Ans.(b)
Sol.

=

=
W wm e W]
I
N K

™3
w

a=x°,b=y? c=2°

> x+y+z=0
(x3+y3+2%)8
= (3xyz)® = 729x5y®z°
=729a’b*c*
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$15. Ans.(d)

Sol.
4(x-y)= 3(x+y)
4x-4y = Ix+3y
=7y
1
y=ox
k=222
_w00, 21
ATQ = — X 7o 3
$16. Ans.(d)
Sol.
3 59 4n
3 S109
— L
g 7.>24-14-10
=ratio=30:50

10 added =40 :60=2:3

$17. Ans.(b)
Sol.

a=0;
=2sin? B + 4cos B sin 0 sinf + cos2p
=2sinf+1-2sin’f=1

a=90%
2sin”p -4 sin B sinf - cos2p
-2sin®f -1 + 2sin®pf =-1

If =0
=cos2o

$18. Ans.(b)

Sol.
for8=0
we are getting
cos’cos0+sin®sin0 = cos® 1
for @ =90 TEST SERIES
we are getting

1+sin®1

$19. Ans.(c)

Sol.

cosec¥Y = é Not possible
Seca = i Not possible

Cosecy, secarange (-oo,—1] U [1,00)
Cosé = 2 Not possible range [-1, 1]

59 Total Tests | eBooks
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$20. Ans.(b)
Sol. Let the length be x.y
x+y=12
2nr+ 8r=12
6

m+4

S$21. Ans.(c)
Sol.
LCM of9,13,17,38=38x17=x13x9
646x117 = 75582
75582N+7 be the number
ATQ,
(75582+7)/11 = remainder = 8
= N=1
Number = 75582+7 = 75589
Sum of digits = 7+5+5+8+9 = 34

$22. Ans.(d)

Sol.

-11 15 11 2 -121
— X=X ===

2 18 34 15 544

$23. Ans.(a)
Sol.

A B
12% 16%
15%

1/ 3

A:B=1:3
A+B C
16.25%
3.75 1.25
3 1

[A:B =1:3]3 = 3:9
[A+B:C=3:1]4=12:4
A:B:C=3:9:4

A+B+C =80

3In+9n+4n= 80

n=>5

15, 45, 20
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S$24. Ans.(c)

Sol. Let the sidesbe a, b, c
a*+b®=13* (1)

bi+c? =281 (2)

a‘+c? =20 (3)

Total surface area= 2(ab+bc+ca)
Solving 1,2 & 3 we get

Ab,c =5,12,16 units respectively
Surface area =

= 2(5x%12412x16+16x5)

= 2(60+192+80)

=(332)2= 664 units

$25. Ans.(d)
Sol. Total score = 42x30

Total score-(smallest + largest)= 40x28

42x30-40x28 = smallest + largest
100 =largest — smallest

Largest + smallest = (40+2) (28+2)- 40x28
-40%x28+40x28+56+80+4 = largest + smallest

140 = largest + smallest
100 = largest + smallest
120 =largest
20 = smallest

$26. Ans.(d)
Sol.

discount = 10% = (mp = 10; sp = 9)u1

Loss=1% =cp =100, sp =99
Mp- Sp cp

110 99 100

894 profit

= 5P==108

Discount = 1004

10="222 x 100
MDD

1 _ MP-108

10 MP

120-110
110

Increased MP =

x 100

_ 100

=— 14
11

Complete Preparation for
SSC Exams

SSC

EXTREME

Video Courses, Test Series,
eBooks
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$27. Ans.(a)

Sol.
loss = 369
= CP= 100
SP= 64 — 360
CP=%§x1ﬂDﬁw14Daﬂmhs
= CP of 1 article = 222120
Gdx 140

Fa0x 100 154
64 140 100

SP of 1 article at 549 profit =

Number of article for Rs 198
_ 198x64x140%100

T 360%100x154

=32

$28. Ans.(b)
Sol.
curved surface area = 2mrh

Ratio = rqhq : r2hs

=Bx5:15x4
=2:3
$29. Ans.(b)
Sol.
Applying cosine rule in PQR,
cosR = 7
2x14.7
.? oy 147
1 _ I
cosR = L
23,1
cosR = 0-=
2 21
casX = ox
X
5 _ox
21 7
ox =2
3
XR = 10 cm
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$30. Ans.(b)
Sol. 12 Months Subscription

Useful for CGL, CHSL & others

TEST PACK

£BCO = £BOC = 32°
£L0BC = 180° — 64°

=116°
£0BA = 64°
£LO0AEB = 64°

£AOB = 180° — 128° = 52°
£A0D = 180° — 52° — 32° = 96°
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